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QUESTION 1

A development team has requested the ability to refresh database contents for existing pre- production SQL servers
managed by vRealize Automation. The developers have provided the cloud architect with a T-SQL script suitable for
performing this task. Which design recommendation would address the requirements of this scenario? 

A. Build a software component to run the T-SQL script. 

B. Design an XaaS blueprint based on a custom Orchestrator workflow. 

C. Design a blueprint and use custom properties to run the T-SQL script. 

D. Build a resource action and publish it to the developers. 

Correct Answer: A 

 

QUESTION 2

A cloud architect is trying to determine the operational impacts of adding another business group (DevOps) to the
company\\'s existing vRealize Automation (vRA) deployment. Existing users have reported that response times for login
into their 

vRA infrastructure has spiked recently and it is taking longer than usual. The Active Directory user base, after the
addition of DevOps users, could increase to well over 100,000 users and 50 groups. 

What is the VMware-recommended design to address this scenario? 

A. Add an additional connector to the existing Active Directory. 

B. Add an additional IaaS proxy agent. 

C. Add an additional IaaS DEM server. 

D. Change the default access policy when adding the additional user base. 

E. Increase the vRA virtual appliance memory allocation on each machine as per sizing guidelines. 

Correct Answer: E 

 

QUESTION 3

The lead architect for a teaching hospital in Seattle is planning the deployment of a highly-distributed Cloud
Management Platform based on VMware vRealize Automation. The design must include log aggregation and analytics
for in-depth 

troubleshooting and analysis when issues arise and ensure a seamless experience for the operations teams. 

The organization must use vRealize Log Insight for log aggregation and analysis. 

The organization currently uses vRealize Operations for monitoring, alerting and capacity management. 
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The design will use external vRealize Orchestrator Appliances. 

Match the actions to the components. Some of the components may be associated with more than one action. 

Select and Place: 

Correct Answer: 

 

 

QUESTION 4

A bank is evaluating solutions for a Digital Transformation initiative that the new CEO is promoting. 

The CIO believes that a DevOps Strategy is vital for this, and wants the architect\\'s opinion on the best way to
implement vRealize Automation as an IaaS solution given that the bank has the following infrastructure: 

1.

 Hyper-V 2012 R2 for all of the virtualization needs of the non-critical applications (three different clusters for
development, test, and production) 

2.

 SCVMM 2012 R2 to manage its Hyper-V virtual environment 
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3.

 vSphere 6.0 for the banking core applications (three dafferent clusters: development, test, and production) 

4.

 vCenter 6.0 to manage the VMware virtual environment 

5.

 An active Microsoft Azure subscription (assume no limitations here) 

What should the architect recommend? 

A. Deploy vRealize Automation in the vSphere cluster where the vCenter currently runs (production for the banking core
applications), and deploy three endpoints: vCenter, SCVMM, and Azure. 

B. Deploy vRealize Automation in a new management cluster with a new vCenter, connect the banking core vCenter as
an endpoint, connect each Hyper-V hypervisor as an endpoint and connect Azure as an endpoint. 

C. Create a VMware based management cluster, move the vCenter from the banking core to this cluster, deploy
vRealize Auton1ation 7.2 there, and connect three endpoints: the banking core vCenter, SCVMM, and Azure. 

D. Create a VMware-based management cluster separated from the production one, deploy vRealize Automation 7.2
there, connect the banking core vCenter as an endpoint, connect each Hyper-V hypervisor as an endpoint and connect
Azure as an endpoint. 

Correct Answer: B 

 

QUESTION 5

An architect has been tasked with designing a blueprint containing web, application and database machines utilizing
NSX for networking. Upon provisioning, network traffic must be automatically restricted to allow: 

1.

 The web server to communicate only to the application server 

2.

 The application server to communicate to both the web and database servers 

3.

 The database server to be blocked from communicating to the other servers 

Which two methods could the architect use to accomplish this? (Choose two.) 

A. Assign an appropriate security group to the entitled items or entitled service within the entitlement. 

B. Add an appropriate security group to the blueprint from within the blueprint properties, under NSX Settings. 

C. Create or update an appropriate security group within NSX to include the provisioned machines. 

D. Specify an appropriate security group in the blueprint and assign it to each machine. 
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E. Use an Event Broker subscription to ensure that provisioned machines are receiving the appropriate security group
assignment. 

Correct Answer: CD 
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